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1. Which of the following is a biquadratic surd?

8. 3 . 5 4
(iy v4 (i) v9 (iii) (=2v2) (iv) (=2v2) (v) (=5V9)

17
2. Express > as a decimal correct to 2 decimal places
(i) 7.73 (ii) 0.87 (iii)) 0.57 (iv) 0.08 (v) 0.77
3. 5v6 —(-7v6) =
— - — 4_
(iy 12v6 (ii) 12v8 (iii) 12v4 (iv) 72 (v) 12v6

4. The decimal number 1.44 lies between

(i) {1.24,1.34} (ii) {1.34,1.54} (i) {1.45,1.46} (iv) {1.54,1.64} (v) {1.42,1.43}

7
5. Express 5 as a decimal correct to 2 decimal places

(i) 0.88 (ii) 0.58 (iii)) 0.78 (iv) 7.78 (v) 0.08

6. (7Vv2—-3V6) +(4V6—-6V3)=

(i) (7Vv24+v9—-6v3) (ii) (7v2+Vv3—-6V3) (iii) (7v2+v6—-6V3) (iv) (7Vv24+v6—-6V3) (v) (7v2+Vv6—-18)

7. 10.33 =
. .. 1033 . 1033 . 1033 1033
(i) 1033 (ii) ——— (iii)) —— (iv) (v)
100 1000 10 10000

8. Which of the following are true?

a) 11 48 4 11 48 11 4
()= ) (D)
10 5 3 10 5 10 3

b) 4 143 1 4 143 4 1
- X( —o)=(5X )=(5 X))
13 17 2 13 17 13 2

c) 4 48 19 4 48 4 19
X+ )= X (o X )
13 5 11 13 5 13 11

d) 11 143 2 11 143 11 2
X = )=(= - == )X (S - 2)
10 17 11 10 17 10 11

__(_

(i) {b,c} (i) {a,b} (i) {d,c} (iv) {a.d,b} (v) {a,cb}



9. Which of the following fractions converts to a non-terminating recurring decimal?

(0) 385 (i 1540 (i) 4680 (iv) 133 V) 393
4 32 80 9 8
10. 8.11 =
(0 811 iy 811 (iii) 811 (iv) 811 V) 811
i ii iii iv v
10000 10 100 1000

11. (2v9+9v3+9v8) +(2v6+3Vv3-5v9) =
. 4
(i) (=9+12v3+9v8+2v8) (ii) (=11+12V3+9v8+2v6) (iii) (=9+12v3+9v8+2v6)

. 4. . .
(iv) (=9+12v3+4+9v8+2v6) (v) (-9+12v3+9v8+2V6)

Convert the non-terminating recurring decimal 0.33333333333333...
" to rational number

(i) - (i) : (i) 1 (iv) (=)
5 ) o (il v) (5

1

13. Rationalise the denominator of. .
(—4v2-5v4+3V3)

7 82 63 48 .. 76 82 63 48
(i) (= V2 + V3-— v6) (i) (= V2 + V3-— v9)
355 357 355 355 355 355 355 355
. . 82 63 4 48 76 7 82 63 48
(iii) (- V2 + : V33— v6) (iv) (—: 5+ + 3- v6)
355 355 355 35 355 355 355 355
76 . 82 63 . 48
(v) (- V2 + + V3-— Vo)
355 355 355 355

. . 3 3
14, (-Vv6+6V7+4V3)—(-5v3+5v6-7v4) =
3 3 3 3
(i) (-v3+6v7+4v3+5Vv3-5v6+7v4) (ii) (-v6+6V7+4V3+5Vv3-5v6+7v4)
. . 3. 3 . . . 4 3 3 .
(iii) (=v6+6v7+4V3+5v5-5v6+7v4) (iv) (-Vv6+6vV7+4Vv3+5Vv3-5v6+7v4)

: 4 3. 3. :
(v) (=v6+6V7+4V3+5Vv3-5v6+7v4)

15. (=5v6)=+7V7 =

() (== va2) (i) (- va5) (i) (=) () (== v39) (V) (= Va2)
I 49 ! 49 . 7 W 49 v 49

33
16. V4 =

9 9 9 . 3 > 3
(i) v4 (i) v2 (i) v7 (iv) v4 (v) v1
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1
Convert the fraction 3 to non-terminating recurring decimal

(i) 33.3 (ii) 0.03 (iii) 0.0 (iv) 0.3 (v) 3.3

3.974 =
1987 1987 = 1987 . 1987 1987
(i) (i) (iii) (iv) (v)
50 50000 5000 5 500
Which of the following is a cubic surd?

5 3 7
(i) (=5v8) (ii) (=5v9) (iii) (=2v6) (iv) (=v4) (v) (=5vV3)

Find the product of the rational numbers at the points labelled with letters S and T

5 T
< I I I T I T I I I I I I I I I I
-9 -8 -7
(0) 1808 (i _1806 (i) _1662 (iv) _1804 V) 650
25 25 23 25 9

Which of the following is a vulgar fraction?

(i) : (if) ! (iii) > (iv) > (V) o
1000 6 100 10 10000

40
Express = as a decimal correct to 1 decimal places

(i) 0.8 (ii) 0.6 (iii) 0.7 (iv) 0.4 (v) 0.5

The recurring part of the decimal5.88888888888888...is
(i) 8 (ii) 5.8 (iii) 885 (iv) 888 (v) 88

(-6v5) x(=3V7) =

4
(i) 630 (ii) 18v37 (iii) 18v32 (iv) 18v35 (v) 18v35

(8v6—v8) —(9v2+5v6) =

4. . . . :
(iy (3ve—11v2) (i) (3v6—22) (iii) (3v3—-11v2) (iv) (3v8—-11v2) (v) (3v6—-11v2)



Assignment Key

1) (v) 2) (v) 3) (i) 4) (ii) 5) (iii) 6) (iii)
7) (ii) 8) (i) 9) (iv) 10) (iv) 11) (iv) 12) (i)
13) (v) 14) (ii) 15) (i) 16) (i) 17) (iv) 18) (v)
19) (iii) 20) (ii) 21) (ii) 22) (ii) 23) (i) 24) (iv)
25) (v)
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